2017 (8) Roll No: i
INTERMEDIATE PART-II (12" CLASS)

BIOLOGY PAPER-1I (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE: - Write samc question number and its part numher on answer book,
as given in the guestion paper.

SECTION-I
2 Attempt any eight parts, 8x2=16
{i) Deline unhydrobiosis with an example.
(i)  Differentiate between Protonephridium and Metanephridium,
(ili)  What is Renal Iailure?
(1v)  Define Passive Flight and Active Flight,
{v) What is Sciatica? Give ils causes,
(vi)  Briefly claborate Muscle Fatigue.
(vil) Deline Afier Birth,
(viii}  What are Test [ube Bubies?
(ix)  How productivity of an aguatic ecosysiem can be determined?
(x)  Driefly describe the plant and animal life of Tundra Ecosystem.
(x1)  How wind is used to Generate Energy? Bricily write its mechanism.
(xil) How Forests are important for Climate?

3. Attempt any eight parts. 8x12=16
(1) Wrile down the names and functions of any two Skin receptors.
(11} Define Neurotransmitters. Name diflerent types of Neurotransmitters.
(iii)  What is Parasympathetic Mervous Svstam?
(iv)  Define Pleintropy. Give two examples.
(v]  Differentiate between Heteroeygole and Homozyeote,
(vi}  What do you mean hy Over Dominanec?
(vii) Detine Cystic Fibrosis,
(viii) What are Palindromic Sequences?
(ix)  Differentiate between Autecalogy and Synecology.
(%) Pescribe Recombinant DNA Technolagy.
(x1)  Dehine Mvcorrhiza.
{zu)  Explain Food Web with example.

4. Attempt any six parts. bx2=12
(i} Whal are Lateral Meristems? Give its function.
{i1) Differentiate between Epiblast and [Hypoblast.

{iii) What are Okaeaki Fragments?
(1v) Differentiate between Codon and Anticodon.
(v} How many chromosomes are present in Mouse and Sugarcane?
(vi) Name the different sub-stages of prophase — 1 of Meiosis — 1
{vii) Define the rerms Tetrad and Crossing over.
{viii)  Statc Hardy — Weinberg 'Theorem.
(ix) What is Genetic Drifi?
SECTION-11

NOTE: - Attcmpt any three questions.

3.a)  Explain the role of liver as an excretory organ, 4
(k) Define Succession. Discuss Succession on Land. 1+3=4
6.(a)  Define Joints, How are they classified? Explain. 1+14+2=¢
{h)  Writc a short note on “One — gene/one -~ polypeptide Hypothesis™, +

74a)  Define Leaming Behaviour, Describe lmprinting and Habituation

as an example of Learning Behaviour. 1+3=4
(h)  Write o note on Wild Life. 4
d.(a)  Explain Female Reproductive Cyele. 4

(b)  Writc the Phenomenon of Gene Linkage.

9.4a) Define Regeneration. Explain it in various groups of Animals and Plants. =

(b)  Write a note on “Inheritance of acquired characlernislics™ 4
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2017 (S) Roll Mo,
Number: _4‘_4_6] | INTERMEDIATE PART-II (12" CLASS)
BIOLOGY PAPER-Il (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Mote: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more cireles will result in zero murk in that question, Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
(.No.1

(1) Number of Ammonia molecules to produce one molecule of urea is:-

/;Puper Code |

(A) D] By 02 {C) 03 (D) 04
(2)  Aldosterone helps in the retension of*-

(A) K- (B} Na (C) Ca* (D) Mg"
(3)  _____ provides allachment site for muscles.

(A) Compact bone  (B) Spongy hone (C) Cartilage bone (D) Hip bone
(4)  The movement of Chloroplast towards light is by the process of'-

(A} Active transport (B) Cyclosis (C) Endocytosis (D) Exocylosis
(3)  Resting membrane potential of a neuron is:-

(A) - 50 mV (B) — 60 mV (C) =70 mV (D) - 80 mV
(6)  Vehicle for the transport of male gametes in land plants is:-

(A) Water (B} Pollen tube () Wind (D) Pollen grain
(7)) Reproduction is necessary for the survival of -

(A) Individual (B) Species (C) Biome (I3) Community
(8)  Optimum temperature for growth of plants is;-

(A) 30-40°C (B) 25-30p°C (C) 10-20°C (D) 5-20°C
{9) Histones are attracted to:-

{A) Nitrogen basis of DNA  (B) Sugar of DNA (C) Phosphate of DNA (D} Proteins
(10} Cell eyele involves:- (A) Growth of cell

(3) Replication of DNA (T Cell division (D) Growth of cell, replication of DNA and Cell division
(11) ____1s pre-mitatic phase.

(A) GO (B) GI (C) G2 (D} 8§
(12)  All the genes found in a breeding population constitute:-

(A} Genotype (B) Genome (C) Gene frequency (D) Gene pool
(13)  Primer for PCR contains about bases:-

(A) 10 (B) 20 (C) 10D (D) 200
(14)  Archaeobacteriu can rolerate temperature upto:-

(A) 90°C (B) 100°C (C) 110°C (D) 120°C

(15) A predator is a:-
(A) Producer (1) Consumer (C) Decomposer (D) Symbiont

(16)  Northern coniferous forests are also called:-

(A) Tundra (B) Taiga (C) Alpine (D} Boreal
(17} Alr in motion is called:-
{A) Atmasphere (B) Wind (C) Gas {D) Weather
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Paper Cod
L 2017 (S) Roll No.

Number: 4463 INTERMEDIATE PART-II (12 CLASS)
BIOLOGY PAPER-Il (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and ). The choice which you
think is correct, fill that eircle in front of that question number, Use marker or pen to fill the circles.

Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. Mo credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(1 Cell cycle involves:- (A) Growth of cell
(B) Replication of DNA.  (C) Cell division (D) Growth of cell, replication of DNA and Cell division

(2) 1s pre-mitotic phase.

(A) GO (B) Gl (C) G2 (D) §
(3)  All the genes found 1n a breeding population constitute:-

{A) Genotype (B) Genome (C) Gene frequency (D) Grene pool
(4)  Primer for PCR contains about bases:-

(A) 10 (B) 20 (C) 100 (D) 200
(5)  Archaeobacteria can tolerate temperature upto:-

(A) 90°C (D) 100°C (C) 110°C (D) 120°C
(4) A predator is a:-

{A) Producer (B) Consumer (C) Decomposer (D) Symbiont
(7)  Northern coniferous forests are also called:-

(A) Tundra (B) Taiga (C) Alpine (1) Boreal
(%) Air in motion is called:-

(A) Atmosphere {(B) Wind {C) Gas (D} Weather
(9)  Number of Ammonia molecules to produce one molecule of urea is:-

(A) 01 (B 02 (C) 03 (D) 04
(10) Aldosterone helps in the retension of’-

(A) K7 (B) Na* (C) Cu'" (D) Mg'
{11y _ provides attachment site for muscles.

(A) Compact bone  (B) Spongy bone (C) Cartilage bone {13) Hip bone
(12} The movement of Chloroplast towards light is by the process of:-

(A) Active transport (B) Cyclosis (C) Endocytosis (D) Exocytosis
{13) Resting membrane potential of a neuron is:-

(A)—50mV (B) — 60 mV (C)— 70 mV (D) - 80 mV
(14) Vehicle for the transport of male gametes in land plants is:-

(A) Warter (B) Pollen tube (C) Wind (D) Pollen grain
(15) Reproduction is necessary for the survival of;-

(A) Individual (B) Species (C) Biome (D) Community
(16) Optimum temperature for growth of plants is:-

(A) 30-40°C (B) 25-30°C (C) 10-20"C (D) 5-20°C
(17)  Histones are atiracted to:-

(A) Nitrogen basis of DNA  (B) Sugar of DNA  (C) Phosphate of DNA (D) Proteins
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' Paper Cod e
RS 2017 (S) Roll No.

Number: 4465 INTERMEDIATE PART-II (12" CLASS)
BIOLOGY PAPER-1I (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMIUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is eorrect, fill that circle in front of that question number, Use marker or pen to fill the circles.
Catting or filling two or more circles will resulf in zero mark in that question, Attempt as many questions
as given in objective type guestion paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of ORJECTIVE PAPER.
.No. |

(1) Optimum temperature for growth of plants is:-
(A) 30-40°C (B) 25-30°C (C) 10-20°C (D} 5-20°C
(2) Histones are attracted to:-

(A) Milrogen basis of DNA  (B) Sugarof DNA  (C) Phosphate of DNA (D) Proteins
13 Cell eyvele involves:- (A) Growth of cell

(B) Replication of DNA  (C) Cell division (D) Growth of cell, replication of DNA and Cell division
(4] _ ispre-mitotic phase.

(A) GO (B) GI (C) G2 (T) 8
(5)  All the genes found in a breeding population constituie:-

{A) Genotype (B) Genome (C) Gene {requency () Gene peol
() Primer for PCR contains about bases:-

(A) 10 (13) 20 (C) 100 (D3 200
{7y Archaecbacteria can tolerate temperature upto:-

(A) 90°C (B) 100°C (C) 110°C (D) 120°C
(8) A predator is a:-

(A) Producer (3) Consumer (C) Decompuser (D} Symbiont
(%) Northern coniferous forests are also called:-

(A) Tundra (B) Taiga (C) Alpine (D) Boreal
(10} Al in motion is called:-

(A) Atmosphere (B) Wind (C) Gas (1) Weather
(11)  Number of Ammonia molecules to produce one molecule of urea is:-

(A) 01 (B) 02 {C) 03 (12) 04
(12) Aldesterone helps in the retension of:-

(A) K° (B) Na~ (C) Ca"’ (D) Mg™
(13)  _ provides attachment site for muscles.

(A) Compact bone  (B) Spongy bone () Cartilage bone (D} Hip bone
(14)  The movement of Chloroplast towards light is by the process ofi-

(A) Active transport (B) Cyelosis () Endocytosis () Exocytosis
(15) Resting membrane potential of a neuron is:-

(A)—=30mV (B)-60 mV (C)=T0mV (D) -80mV
(lb] Vehicle for the transport of male gametes 1n land plants is:-

(A) Water (13) Pollen ube (C) Wind (1)) Pollen grain

(17}  Reproduction is necessary for the survival of:-

{A) Individual (B) Species (C) Biome (D) Community
27(0Ob WETETE)-2017(5)-700 (MULTAN)




Paper Cod
aper Code 2017 (S) Roll No.

Numkier: 4467 INTERMEDIATE PART-II (12" CLASS)
BIOLOGY PAPER-Il (NEW SCHEME) (SESSION 2015-2017)

LTIME ALLOWED: 20 Minutes OBJECTIYE MAXIMUM MARKS: 17
Note: You have four cheices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that cirele in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt us many questions
as given in objective type question paper and leave others blank. No credit will he awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

(). MNo.1

(1) Resting membranc potential of a neuron is:-

(A) - 50mV (B - 60 mV (C) =70 mV (1) — 80 mV
(2)  Vehicle for the transport of male gametes in land plants is:-

(A) Water (B) Pollen tube (C) Wind (D) Pollen grain
(3)  Reproduction is necessary tor the survival of -

(A) Individual (B) Species (C) Biome () Community
(4)  Optimum temperature for growth of plants is:-

(A) 30 -40°C (B) 25-30°C (©) 10-20°C (D) 5-20°C
(5) Histones are attracted to;-

(A) Nitrogen basis of DNA  (B) Sugar of DNA  (C) Phosphate of DNA (D)) Proteins
{6}  Cell cvele invalves:- (A) Growth of cell

{B) Replication of DNA  (C) Cell division (D)) Growth of cell, replication of DNA and Cell division
(1) 15 pre-nutotic phase,

(A)YGO (B) Gl (C)y G2 (D) 5

(8] All the genes found in a breeding population constitute:-

LA) Genotype (B) Genorne (C) Gene frequency (D) Gene poal
(9) Primer for PCR contains about bases:-

(A) 10 (B) 20 (€) 100 (D) 200
(10}  Archaeobacteria can wlerate temperature upto:-

(A) S0°C (B) 100“C (©) 116°C Oy 120°¢C
(11) A predator 15 a:-

(A) Producer {B) Consurner (C) Decomposer (D) Symbiont
(12} Northern coniferous forests are also called:-

{A) Tundra (B) Taiga (C) Alpine (D) Boreal
{13)  Air in motion is called:-

(A) Atmosphere (B) Wind (C) Gas (12) Wealher
(14)  MNumber of Ammonia malecules w produce one molecule of urea 15:-

(A) 01 (B) 02 (C) 03 (D) 04
(15)  Aldosierane helps in the retension of:-
(A) K7 (B) Na* {C) Ca™ (D) Mg™
___ provides attachment site for muscles.

(A) Compact bone  (B) Spongy bone {C) Cartilage bone (D) Hip bone
(17)  The movement of Chloroplast towards light is by the process of--

(A) Active rranspert (3) Cyclosis (C) Endocytasis (D) Exvcytosis
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BIOLOGY PAPER-II (OLD SCHEME) (SESSION 2012-2014)

2017 (S) Rall No:
INTERMEDIATE PART-11 (12" CLASS)

TIME ALLOWED: 3.10 Hours SUBJECTIVE

NOTE: - Write same question number and its part number on unswer hook,
s given in the question paper,

Bt

{1
{11}
fiii)
Liv)
(V]
{vi)
{vit)
(viii)
(%)
(x)
(xi)
(xit)

(1)
(i1}
{111}
(1)
{v}
{vi)
{wil}
{viii)
(1x)
(x]
(%1}
(X11)

(1]
(ii)
(iil)
(iv)
(v}
(vi)
(vii}
{viil)
{ix)

NOTE: -

SECTION-I

Attempt any Fight parts,
Define and sketch Urea Cycle.
What 1s Glomerules Filtrate? Give its contents,
How do plants adapt to survive in heat stress?
Whal is Turgor Pressure? Give its importance.
Differentiate between Heartwood and Sapwoad,
Differentiate between Chemotactic and Chemotropic Movement,
What is Cushing’s Disease? Give its symptoms.
What 1s meant by Oestrous Cyele?
Differentiate between Alpine and Boreal Forests.
How is productivity of Aquatic System indicated and determined?
What is Ozone Layer Depletion? Give its cause.
Forests or trees are called Environmental Bufters. Why is so?
Attempt any Eight parts.
Ditferentiate between Diurnal Rhythms and Circannual Rhythms.
Wiite any two commercial applications of Gibberellins.
Write any two effects of use of Nicotine,
Differentiate between Phenotype and Genotype.
What are Multiple Alleles? Quote their example
Differentiate between 1leterogametic and Homogamelic.
What are Plasmids? Give one exumple,
Differentiate between Genome and Genomic library.
What is cell suspension culture? Give its example.
Retfine Niche. Whe first proposed it?
Differentiate between Autecology and Svnecology.
Differentiate between Macronutrients and Micronutrients,
Attempt any Six parts.
What are point Mutations? Give examples.
How Histones help DNA coiling around it?
Differentate between Heterochromatin and Euchromatin,
Enlist the causes of Abnormal Development,
(rive open growth pattern in Plants,
What is Down's Syndreme? Give its symptoms.
How Necrosis differ from Apoprosis?
Fnlist the main pomts of Darwin's theory of Natural Selection.
Differentiate between Convergent and Divergent Evolution.

SECTION-II

Attempt any three questions.

5.(a) Explain Excretion in Plants,

(b} Describe the flow of energy in food chain in an scosystem.
G.ua)  Give the structure of skeletal muscle fibre,

(b)  Describe the replication process of DNA in detail.

74} Describe the role of Auxins in plants. Give its commercial applications,

(bl Write a note on Wild [ife.
8.(a) LExplain Sexually Transmitted Diseases.
(b} Explain Diabetes mellitus and its tvpe.
Yia)  Whatis Aging? Explain the process of Aging.

(bl Explain various hypathesis for the evolution of eukaryotes from prokarvotes.

10
(A)
{B)
()

| (1)
(1)

SECTION-IIT (PRACTICAL)

Altempt any three parts.
Sketch and label urinogenital system of Male Frag.
Sketch and label [orelimb of Frop,

MAXIMLIM MARKS: 83

Bx2=16

8 x2=16

6=x2=12

8 x3=124

N S S N S S S

by 1y

Investigate the phenomenon of Geotropism and write down material, procedure,

observations and results.
Draw and label various stages of Mitsis. Uive brief description tor each stage.
Write shaort notes on:-

Ly th

Ty

(i) What is Synapsis? (11) What i1s Muscle Twitch?
(iii) What are Hydrophytes? Give one example.  (iv) What is Polyeenic Inheritance?

(vi Define Water Tahle.

27-2017(8)- :)_ﬁg (MULTAN)



Paper Code

Number: 846 |

BIOLOGY PAPER-1I (OLD SCHEME) (SESSION 2012-2014)

TIME ALLOWED:; 20 Minutes OBJECTIVE MAXIMUM MARKS: |7
Note! You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutting or filling two or more cireles will result in zero mark in that question, Attempt as many questions
as given in objective type question paper and leave others hlank. No eredit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

2017 (8) Roll No.
| INTERMEDIATE PART-II (12" CLASS)

).No.l

{1 Lach segment of earthworm has metanephridia:-

(A) One pair (B) Two pairs (C) Three pairs {D) Four pairs
(2) ____is precursor for Urea cycle.

(A} Argon (B) Alanine (C) Ornithine (D)) Leucine
(3) ____isplant movement in response to touch,

{A) Phototropism (B} Geotrapism (C) Thigmotropism (D) Chemaotropism
{4 15 facial bore,

(A) Maxilla (B) Ulna (C) Tibia (D) Spheneid
(5 Duarkening of skin is due to hormone:-

(A) LH (B) TSH (C} FSH (D) MSH
(6) _ stimulates mammary development in preparation lor lactation.

(A} LH (B) ADH (Cy ACTH (1) Lactogen
(7) Reproduction is very important to the survival of’-

(A) Species {B) Ecosystem (C) Community (D) Individual
(R) The human life span is judged to be maximum of years:-

(AY 100 - 120 years (B) 120 - 130 years (C) 120 — 125 vears (D) 100 — 150 vears
(9] __ is present in DNA,

{A) Peptido Bond (B) Glycosidic Bond (C) Metallic Bond (D) Phosphodiester Bond
(10)  __ is misleadingly resting phase.

{A) M — Phase {B) Interphase () Prophase (D) Anaphase

(11)  Nuclear envelope disappears during phase:-

{A) Prophase (B) Metaphase (C) Anaphase (D) Telophase
(12)  Blood group system is encoded by a single polymorphic gene 1 on chromosome:-

(A) 6 (B) 7 (C) 8 (D9

(13} One commen type of vector is:-

(A) Ribosome (B} Lvsosome (C) Mesosome (D)) Plasmid
(14)  __  introduced Binomial Nomenclature.

(&) Linnasus (B) Lamarck () Malthus (12) Lyell
(13) ___isa group of imerbreeding individuals occurring together in space and time.

(A) Population (B3) Community (C) Biosphere (D) Biome
(16)  Layering is the characteristics of ecosystem:-

{A) Tundra (B) Grassland (C) Desert (D) Forest
(17)  Nuclear energy is obtained from nuelear fuels by:-

(A} Binary fission  (B) Multiple fission  (C) Nuclear fission (D) Biogas
27(0)(PE)2017(S)- 2 &, (MULTAN)
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i _.‘\! u_plh:er: 8 4 63

BIOLOGY PAPER-1I (OLD SCHEME) (SESSION 2012-2014)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each abjective type question as A, B, C and I The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in thut question. Attempt as many guestions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not selve question on this sheet of OBJECTIVE PAPER.

2017 (S) Roll No.
INTERMEDIATE PART-I1 (12" CLASS)

{}.No.l
(1) Intreduced Binomial Nomenelature.
(A) Linnaeus (B) Lamarck (C) Malthus {D) Lyell
(2) ____1sa group of interbreeding individuals occurring together in space and time.
{A) Population (B) Community (C) Biosphere {D) Biome
(3)  Layering is the characteristics of ecosystem:-
(A) Tundra (B) Grassland (C) Desert (D) Forest
(4)  MNuclear energy is obtained from nuclear fuels by:-
(A) Binary fission  (B) Multiple fission (C) Nuelear fission (D) Biogas
(5) Each segment of earthworm has metanephridia:-
(A) One pair (B) Twa pairs (C) Three pairs (1)) Four pairs
(&) __is precursor for Urea cyele.
(A) Argon (B) Alanine {C) Ornithine (17) l.eucine
(7) 15 plant movement in response to {ouch,
(A) Phototropism (B) Geetropism {C) Thigmotropism (D) Chemotropism
(%) ____is facial bone.
(A) Maxilla (B) Ulna {(C) Tibia (D) Sphenoeid
() Parkening of skin is due to hormone:-
(A) L1 (B) TSH (C) FSH (D) MSH
(10)  __ stimulates mammary development in preparation for lactation.
(A) LI (B) ADH (C) ACTH (D) Lactoger
(11)  Reproduction is very important to the survival of -
(A) Species (B) Ecosystem ({C) Community (1)) individual
(12)  The human life span is judged to be maximum of years:-
(A)100—-120 vears (B) 120 — 130 years  (C) 120 — 125 years (D) 100 - 130 years
(13) __ is present in DNA.
(A) Peptido Bond (B) Glycosidic Bond (C) Metallic Bond (D) Phosphodiester Bond
(14} ___ is misleadingly resting phase,
(A} M — Phase (B) Interphase (C) Prophase (D) Anaphase

(13} Muclear envelope disappears during phase:-

{A) Prophase (B) Metaphase {C) Anmaphase (D) Telophase
(16} Blood group system is encoded by a single pelymorphic gene 1 on chromosome:-

(A) 6 (By 7 (C) & (D) 9
(17)  One common {ype of vector is:-

{A) Ribosome (B) Lysosome () Mesosome (D) Plasmid
27(0b))(PEP)-2017(S)- 2§ (MULTAN)
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BIOLOGY PAPER-II (OLD SCHEME) (SESSION 2012-2014)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D, The choice which you
think is correct, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutting or filling two or more cireles will result in zero mark in that (uestion. Attempt 158 many guestions
as given in objective type question paper and leave others blank. No eredit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

2017 (8) Roll No.
INTERMEDIATE PART-II (12" CLASS)

.No.1
{1 Reproduction is very important to the survival of -
(A) Species (B) Ecosystem (C) Commuunity (D) lndividual
{2) The human life span is judged to be maximum of vears:-
(A) 100 — 120 years  (B) 120 130 years  (C) 120 — 125 vears (D) 100 — 150 years
(3) ___ ispresent in DNA,
(A) Peptido Bond (13) Glveosidic Bond (C) Metallic Bond (D) Phosphediester Bond
(4)  __ iz misleadingly resting phase.
(A) M = Phase (B) Interphase (C) Prophase (12} Anaphase
(3)  Nuclear envelope disappears during phase:-
(A) Prophase (B) Mclaphase (C) Anaphase (D) Telophase
(6] Blood group system is encoded by a single polymorphic gene 1 on chromosome:-
(A) & (B) 7 (C) 8 (D) 9
(77 One conunon type of vector is:-
{A) Ribosome (B) Lysosome (C) Mesosoine (D} Plasmid
(8 ____ introduced Binomial Nomenclature,
{A) Linnacus (B) Lamarck () Malthus (DD} Lyell
9y  ___ isagroup of interbreeding individuals aceurring together in space and time,
(A) Population (B) Community (C) Biosphere (D) Biome

{1)  Layering is the characteristics of ecosystem:-
(A) Tundra (B) Grassland (C) Desert (D) Forest
(11)  Nuclear energy is obtained from nuclear fuels by:-

(A) Binary fission  (B) Multiple fission (C) Nuclear fission (D) Biogas
(12)  Each segment of earthworm has metanephridia:-
(A} Ong pair (B) Two pairs {C) Three pairs (D) Four pairs
(13) ___ isprecursor for Urea cyclz. |
(A) Argon (D) Alanine (C) Ornithine (I)) Leucine
(14)y iz plant movement in response to touch.
(A) Phatotropism  (B) Geotropism {C) Thigmotropism (D) Chemotropism
(13) = facial bone.
(A) Maxilla {B) Ulna (C) Tibia (D) sphencid
(16)  Darkening of skin is due to hormone:-
(A) LH (B) TSH (C) FSH (D) MSI
(17y  ____ stimulates mammary development in preparation for lactation.
{A} LI (B) ADH (C) ACTH {T3) Lactogen

27(0b])( T TETE)-2017(8)- 2_E77 (MULTAN)
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Puper Code 2017 (8) Roll No.

Number: 8467 | INTERMEDIATE PART-1 (12 CLASS)

BIOLOGY PAPER-II (OLD SCHEME) (SESSION 2012-201 4)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for euch ahjective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that guestion number. Use marker or pen to fill the circles,
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many guestions
as given in objective type question paper and leave athers blank. No credit will be awarded in ease
BURBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

). No.1
(1) —_lIs facial bone,

{A) Maxilla (B) Ulna (C) Tibia (D) Sphenoid
{2) Darkening of skin is due to hormone:-

lA)LH (B) TSH (C) F8SH (12) MSH
(3) _ stimulales mammary development in preparation for lactation.

{A) LH (B} ADH (C) ACTH (D) Lactogen
(4) Reproduction is very important to the survival ofi-

{A) Species (B) Ecosystem (C) Community () Individual
(5) The human life span is judged to be maximum of years:-

(A) 100~ 120 years (B) 120 - 130 years (C) 120 — 125 years (D) 100 — 150 years
(6) ___ ispresent in DNA.

(A} Peplido Bond  (B) Glycosidic Bond (C) Metallic Bond (D) Phosphodiester Bond
(7) __is misleadingly resting phase.

{A} M — Phase (13) Interphase (C) Prophase (D} Anaphase
(8)  Nuclear envelope disappears during phase:-

'A) Prophase (B) Metaphase (C) Anaphase {D) Telophase
(9] Blood group system is encoded by a single polymorphic gene | on chromosome:-

(A) 6 (2] 7 {C) 8 (D} &
(1) One common type of vector ig:-

(A} Ribosome (B) Lysosome {C) Mesasome (1)) Plasmid
(11) __introduced Binomial Nomenclature.

{A) Linnacus (B) Lamarck (C) Malthus (D) Lyel!
(12)  __ isagroup of interbreeding individuals oceurring together in space and time.

(&) Population (B) Cammunity () Biosphere (L1} Biomg

(13} Layering is the characteristics of ecosystem:-
(A) Tundra (B} Grassland (C) Desert (D) Forest
(14)  Nuclear energy is obtained rom nuclear fuels by:-

(A) Binary fission  (B) Multiple fission  (C) Nuclear fission (L) Biogas
(15)  Each segment of earthworm has metanephridia:-
(A} Ong pair (B) Two pairs () Three pairs (I}) Four pairs
(16)  _is precursor for Urea cycle.
(A) Argon (B) Alanine (C) Ormithine (D) Leucine
(17) ~ ____is plant movement in response 1o louch.
(A) Phototropism {B) Geotropism {(C) Thigmotropism (D) Chemotropism
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